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           BASED ON N.C.E.R.T PATTERN   

                                  CH-  3  ( ADDITION  )  

  WORD PROBLEMS ON ADDITION  ( 2 – DIGIT 

NUMBERS ) . 

  Let us solve the addition problems.  

Example  :  Ankit ate 53 ladoo and Rima ate 26 

ladoo . How many ladoo did the they both are? 

Solution: Ladoo Ankit ate    =  5  3 

              Ladoo Rima ate   +  =  2   6 

     -------------------------------------------- 

         Both ate                        =    7   9 

Solve  these questions according to example. 
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